
sd 1:o:6:Q: [sdfg]  1,56197841o4 512-byte rogicar blocks:  (7.99 rB/7.27 TiB)
sd 1:@:4:8:  Isdeu] wr i te cache: enabred, read cache: disabled, supponts Dpo and
FUA
sd 1:@:6:4:  [sdfk]  156t9784704 512-byte rogical  b locksz (7.99 TB/7.27 TiB)
unknown part i t ion table

sd L:@:4:@: Isdem] wr i te cache: enabred, nead cache: disabled, supports Dpo and
FUA
sday:

sd 1:0:5:1:  Isdex] wr i te cache: enabled, nead cache: disabled, supports Dpo and
FUA
unknown part i t ion table
unable to read pantit ion table
sdaw:

sd 1:0:5:3:  Isdez] wr i te cache: enabled, nead cache: disabled, supports Dpo and
FUA
Dev sday: unable to read RDB block 0
sd 1:0:6:2:  lsdf i ]  !5619784704 5t2-byte rogicat  brocksl .  ( t .ss rB/7.27 TiB)
sd 1:0:22t2:  [sddw] Wri te Protect  is  of f
sd 1:0:22t2:  [sddw] Mode Sense: 77 OO lO Og
unable to read pantit ion table

sd 1:0:5:2:  Isdey] t rJr i te cache: enabled, nead cache: disabred, supports Dpo and
FUA
sd 1:0:2: t3:  [sddx] Wri te Pnotect  is  of f
sd 1:g:2: t3:  [sddx] Mode Sense2 77 AA lO Og
unknown part i t ion table

sd 1:9:5:4:  Isdfa]  t t r i te cache: enabred, nead cache: disabred, supponts Dpo and
FUA
sd L:0:5:5:  Isdfc]  Idr i te cache: enabled, read cache: disabred, supponts Dpo and
FUA
unknown pantit ion table

sd 1:0:6:3:  [sdf jJ t56!97847o4 stz-byte logical  brocks:  (7.99 rB/7.27 TiB)
sd t :o:2:5:  Isddp] I , rJr i te cache: enabled, nead cache: enabled, supports Dpo and
FUA
sd 1:0:6:1:  fsdfh]  t56197847O4 S!2-byte logical  btocks:  (7.99 rB/7.27 TiB)
sd 1:0:5:4:  [sdfk]  hJni te Pnotect  is  of f
sd 1:0:4:9:  Isdev] l rJr i te cache: enabred, read cache: disabled, supports DpO and
FUA
sd 1:9:6:4:  [sdfk]  Mode Sensez 77 OA lQ 08
Dev sdak: unable to read RDB block 0
sd 1:0:5:8:  Isdfe]  wr i te cache: enabled, read cache: disabred, supports DpO and
FUA
sd 1:0:5:7:  Isdfd]  wr i te cache: enabled, read cache: disabled, supports DpO and
FUA
Dev sdaw: unable to read RDB block O

unable to read part i t ion table
sd 1:0:2:6:  Isddq] Wnite cache: enabled, read cache: disabled, supponts DpO and
FUA
unable to read pantit ion table
sda:


